Parkereach
PREC

010-89862398
13520118840

fast starmotron-com
www . Fastarmoti




parkﬂrﬂaﬂh PREC (Version-05)

PREC

° 60X60 90X90 120X120 160X160
°
°
°
°
°
° /
°
/
° 5000
® 50-2500mm
o 1500mm/s
° +0.02mm
°
°
°
°
° CT
°
°



PREC (Version-05)
/
PRECO060 PREC090 PREC120 PREC160
Bos | B10 | Bos | B10 | B25 | BOs | B10 | B20 | B40 | BOS | B10 | B20 | BA4O
64X64 94X94 124X124 164X164
16 25 20 40 32 50 40
178 | 188 | 196 | 218 | 203 | 234 | 242 | 253 | 253 | 240 | 282 | 282 | 283
5 | 10 | 5 [ 10|25 | 5 |10] 2|4 |5 | 10| 20 |40
2| 4 | 3| 5| 8|57 ]1w0]12]6]8]|10]1
03| 03 |05|06|09|06|07|08]10|10(|12|15]|20
Nm
100 | 51 [ 100 51 | 20 [100| 51 | 25 | 13 [100| 51 | 25 | 10
Kg/Nm
1000 1500 2000 2500
300 800 2200 4500
+0.02 +0.02 +0.02 +0.03
0.050— 0.050— 0.050— 0.050—
/300mm 0.018 0.018 0.018 0.018
0.05— 0.05— 0.05— 0.10—
0.01 0.01 0.01 0.01
255 | 265 | 284 | 306 | 201 | 337 | 345 | 356 | 356 | 370 | 412 | 412 | 413
0
2.5kg 6.25kg 13.48kg 25.43kg
0
6.624kg 14.65Kg 30.1kg 52.3kg
90% 90% 90% 90%
81% 81% 81% 81%
40% 40% 40% 40%
36% 36% 36% 36%
1
2 C7 C5 C3
3 70% 120%
4 = +
5
6
7 1
8 10%
9

(B
o



pa"kﬂl'ﬂaﬂh PREC (Version-05)

C 1)
PREC060 PREC090 PREC120 PREC160
BO5 | B10 | BO5 | B10 | B25 | BO5 | B10 | B20 B40 | BO5 | B10 | B20 | B40
300 360 | 500 | 300 | 600 | 1200 | 250 | 500 | 1000 | 1500 | 240 | 400 | 1000 | 240
450 360 | 500 | 300 | 600 | 1200 | 250 | 500 | 1000 | 1500 | 240 | 400 | 1000 | 240
600 300 | 500 | 300 | 600 | 1200 | 250 | 500 | 1000 | 1500 | 240 | 400 | 1000 | 240
750 250 [ 400 | 300 | 600 | 1200 | 250 | 450 | 1000 | 1500 | 240 | 400 | 1000 | 240
1000 | 180 | 300 | 250 | 500 | 1100 | 200 | 400 | 1000 | 1500 | 240 | 400 | 1000 | 240

1250 200 [ 400| 900 | 150 | 300 | 800 | 1500 | 240 | 400 | 1000 | 240
1500 150 | 300| 700 | 125|250 | 600 | 1200 | 200 | 350 | 1000 | 240
1600 100 | 200 | 400 | 1200 | 200 | 350 | 800 | 240
1800 90 | 180 | 380 [ 1000 | 150 | 300| 600 | 240
2000 80 | 160 | 320 | 1000 | 150 [ 300 | 400 | 234
2200 150 | 300 | 380 | 196
2400 150 | 250 | 320 | 167

1. 200mm/s.

PREC

90%



PREC (Version-05)

2 C5 4 C6
= F=ma + +30%

3/ Fimu+tF ngga+Fanagst - +F 3Ny
Fm -

Nm=N101+N202+N3Q3+ -+ My Ox

Fin= ) PPt Pt oy

Fn = N
Nm = [rpm]
Fi23 = IN]
Ni2s = [rpm]
Q123 = [%]
200 /
50 /
20 50
50%
600



Parkereach

PREC (Version-05)
Reed PNP
°
LED M3 4 s’_ }Loﬂ '
N I -
=% ¥ @ [ @
‘ 217
L
°
Wire colour Contact |Assignment  PNP bn
bn brown 1 +V DT =3 ¥
bk 4

bk black 4 NO EI} T 3_':'—1 24vDC

bu biue 3 VDT i > -
°
PNne MZT1-03VPS-KWO |
Operating voltage L, 10..30VDC Wire-break protection yes
Ripple U <10% of U, Short-circuit protection yes
Voltage drop 1, <2V (puksec) _ _
Power consumption <10 mA Reverse polarity protection yes
{without load) Power-up pulse suppression  yes
Continuous current |, =100 mA Enclosure rating to EN 60529 PE7
Time delay before Shock and vibration WNa 1ms
availability t, sdms stress 101055 Hz, 1mm
Hysteresis H £1.5mm Ambient temperature T, L5+ T5C
Repeatability R =02 mm Housing material Plastic PA12
(U, and T, constant) Connection cable 2 m PVC, 3 %014 mm?
EMC to EN &0 947-5-2 Connection cable with M8x1 mm PUR



PREC (Version-05)

64X64 060
90X90 090 LHO|
120X120 120 LHY
160X160 160 LH2|
LH3]
nnnn mm
50mm C1l
Cc2
B C3
A C4
C5| 2
ce| 4
C9
nn - mm nn
M1
LO M2
( n=0,1,2,3) Pn M3
M4
M5
NE23 A M6
NE34 B M7
NE42 C M8
P M9
Y
M
P
K A 12
G B 3
o] C 6
D
GO0
nn Gnn
2 5mm

0 60x60x124/4-ch 4.5@ch 70/ 50x3/cp 14x30/5
X / / / /



PREC (Version-05)

BD2

=
2 | =
R34 s
" #BERRE
L4 §
H
=z AHW % =
|
5 ;
CHW
Sele | 4
=7
a _
o IS
- ERETITH
BAENE
BD2
9
3 |FrH—
oo | o
N
AHW %
= HE
CRL_ CHW B
oo | o
5
s e
3

BHW

CX

PW




PREC (Version-05)
PREC60 PREC90 PREC120 PREC160
5 10 | 5 10 | 25 | 5 10 | 20 | 40 | 5 10 | 20 50
2 4 3 5 8 3 5 7 10 | 3 8 5 12
L 118 | 128 | 116 | 138 | 123 | 144 | 152 | 163 | 163 | 140 | 182 | 182 | 183
M 118 | 128 | 116 | 138 | 123 | 144 | 152 | 163 | 163 | 140 | 182 | 182 | 183
BL1 | BL2 BD1 BD2 BD3 Bd2 BHW
PREC060 | 15 10 7225 45h7 62 M8-M6X10 64X64
PREC090 | 18 10 242 64h7 99 M10-M8X12 94X94
PREC120 | 23 10 756 90h7 127 M12-M10X15 | 124X124
PREC160 | 28 10 272 120h7 170 M16-M12X18 | 164X164
CD1 CD2 CD3 CD4 cJ1 CJH | CSL | CSL1 | CsL2 CHW
PREC060 | ?10h7 | ?45h7 | 2?56 | N6 15 | 3JS7 11.1 52 23 20 64X64
PREC090 | ?14h7 | ?72H7 | 2?82 | N8 20 | 5JS7 16.1 60 32 18 94X94
PREC120 | ?24h7 | ?100H7 | 2115 | N10 25| 8JS7 27.1 70 40 21 124X124
PREC160 | ?38h7 | ?130H7 | 2148 | N12 30| 10JS7 | 41.1 82 48 29 164X164
AHW LP L LA LN CN Nd
PREC060| 60X60 25 +LM+2LP 12.5 +LM+LP 24 M8X15
PREC090| 90X90 35 +LM+2LP 17.5 +LM+LP 42 M10X18
PREC120| 120X120 40 +LM+2LP 20 +LM+LP 54 M12X20
PREC160| 160X160 45 +LM+2LP | 225 +LM+LP 72 M16X25
CPW | CPH CR | CPL | CPD CPd CMD | CML| CX | CY | CK
PRECO060| 64 159 | 825 44 62 M8X15 | ?40h7 3 42 30 7
PRECO090| 94 220 120 58 99 M10X18 | ?60h7 3 56 | 42 9
PREC120| 124 | 265 135 90 | 127 | M12X20 | ?80h7 4 72 56 11
PREC160| 164 130 | 170 | M16X25 | ?100h7 | 5 90 72 13




parkerﬂaﬂh PREC (Version-05)

¢ Ml BL2 il %0
o — & = = éﬂ
™ N O T e L I
= O = =
il fi BEl
R LA LN LA
LN 1A $/
LA LN Nd CN LP
PREC 60 12.5 +LM+LP M8X15 24 25
PREC 90 17.5 +LM+LP M10X18 42 35
PREC120 20 +LM+LP M12X20 54 40
PREC160| 22.5 +LM+LP M16X25 72 45
e M2
s e i =
& o |
LL @ &
a5 ¢
GA2 GE2 GE2 | .
2 AR
GA2 GB2 GC2 GD2 GE2 GG2
PREC 60 25 12.5 84 104 12 ?9
PREC 90 35 17.5 120 144 15 ?11
PREC120 40 20 150 185 20 ?13
PREC160 45 225 200 240 25 ?17
@
@




Parkereach

PREC

(Version-05)

® M3
i GF3

'y

.fe

f
&

GD4

GA3/GA4 | GB3/GB4 | GC3/GC4 | GD3/GD4 | GE3/GE4 GF4 GRF3 | GG3/GG4
PREC 60 45 64 90 113 12 ?40 3 ?9
PREC 90 63 94 126 153 15 ?60 3 ?11
PREC120 75 124 150 180 20 ?80 3 ?13
PREC160 100 164 200 240 25 ?100 3 ?17

10



parkﬂrﬂaﬂh PREC (Version-05)

° M5 | |
S~ w12
l’.r. E-f I -.I__---.-___. S a2 1 !_} Lé;
e L= =1
. GBS | 603 |
M5

GA5S GB5 GC5 GD5 GE5 (]33} GG5
PREC 60 32 42 45 64 3 45 ?9
PREC 90 41 58 63 94 5 63 ?11
PREC120 41 60 75 124 8 78 ?13
PREC160 45 68 100 164 10 100 ?17
® M6
. GC6

| | _|_
; 666
GA6 GB6 GC6 GG6
PREC 60 70 102 12.5 ?16h7
PREC 90 104 144 17.5 ?20h7
PREC120 140 196 20 ?228h7
PREC 160 184 256 225 ?36h7

11



Parkereach

(Version-05)

PREC
e M7
— 3
= Py
- . &
] ¢
L | ¢ P4
l_ B
: T
_ .| GBT/8
ex1/g
® M8
- GES _ - 607
GA7/8 | GB7/8 GC7/8 GD7 GE8 GG7/8
PREC60 | 27 15 R14 317 32.3 ? 12H7
PREC90 | 36 20 R22 46.6 474 ? 20H7
PREC120| 45 25 R27 61.4 62.6 ? 25H7
PREC160| 55 30 R35 81 83 ?35H7
e Cl1
. FAL FB1
= " PREC 60 M12 32
* i PREC90 | M20X15 40
=t i PREC120| M25X15 50
PREC160 M36X2 64
LFB1_| —
Ci1

12



(Version-05)

PREC
® C2
FA2
Lt |
PREC 60 M12 35 e
PREC 90 | M20X15 40 :
PREC120 | M25X1.5 40
PREC160 | M36X2 45
FD3 —
® CS 8—|——\ <\
2 Tl el ¢
-l e N /
e
. PR3 T <
2 [ ﬂﬂ» §
O Hro {
EF3l L <
FA3 FB3 FC3 FD3 FE3 FF3 FG3
PREC 60 212 44 16.1 25 61 15 28
PREC 90 220 54 20.2 40 74 25 45
PREC120 225 72 30.3 52 96 32 60
PREC160 235 84 405 64 112 48 85
e C4 % —x\
=
@ (
g
el L AN
FC4 {
- ﬁ(
[
[
*Hﬂ:"‘ | |
' al
4
— 1<
FA4 FB4 FC4 FD4 FE4
PREC 60 212 R16 32 113 12
PREC 90 220 R23 41 153 15
PREC 120 225 R30 51 180 20
PREC 160 235 R41 66 240 25

13



PREC

(Version-05)

® C5
/@‘ F5X3
i F5X2
R 99 @
b ' 5
BN P P N
by M7 N ¥ "/
= = S< Y J
f//\ 4 \ 1 A
L__&/I & ‘\;ﬁ”\é& oE
; / By
& S
& & E2
AR FBS -~
0
FAS i @2
¥ Ay FK1 | & |
| o [ L[ [ Fokd
11
[ ] 5 | =
i T
= i = # ®
* [FH] * :
et & 2| mxe .
L]
& 5B @ |
4 &
F
E3X1 Bis
NS
L
rm
Fl5
FK5 1 E&SH
FA5 | FB5 | FC5 | FD5 | FE5 | FF5 | FG5 | FH5 | FI5 | FJ5 | FK5 | FL5 | FM5
PREC060| 130 |64 |15 [40 [108 |40 |64 | 150 104 | 144 |66 | 44
PREC090( 180 |94 |20 |50 [133 |50 |94 |200 147 | 198 |96 |52
PREC120| 240 | 124 |25 |60 |176 |60 | 124 | 250 186 | 248 | 126 | 64
PREC160| 300 | 164 |30 |70 |209 |70 |164 |300 236 | 308 | 166 | 72
FN5 | F5X1 | F5X2 | F5X3 | F5Y1 | F5Y2 | F5K1 | F5K2 | F5K3 | F5K4
PRECO060| 20 | 85 |46.5|100| 10 [46.5| 6.5 | 11 | 9 |14
PREC090| 25 [130| 72 [130| 12 | 72 9 |14 [ 11 |17
PREC120| 30 [160| 89 [180| 15 | 89 | 11 |17 | 13 [ 20
PREC160| 35 (200|116 |240| 20 [116| 13 |20 | 17 |26

14



PREC

(Version-05)

F5D1 | F5D2 | F5Z F5M
PREC60 | 6 8 | 50 20-M8 15
PREC90 | 8 10 | 76 20-M10 20
PREC120| 10 | 12 |100 | 20-M12 25
PREC160| 12 | 16 |130 | 20-M16 30
PREC120
* PREC120 T
T

/

N

T
o

/

O

A 12

P1

YEC120

15



PREC

(Version-05)

PREC

RN

64X64
90X90
120X120
160X160

nnnn mm nnnn

50mm

nn mm

(

NE23
NE34
NE42

nn

060
090 LHO|
120 LHY
160 LH2|
LH3]
C1
Cc2
B C3
A C4
C5
C6
C9
nn
M1
LO M2
n=0,1,2,3) Pn M3
M4
M5
A M6
B M7
C M8
P M9
Y
M
P
K A
G B
o] C
D
GO0
Gnn
2 5mm

0 60x60x124/4-ch 4.5@ch 70/ 50x3/cp 14x30/5
/ / / /

16

12



(Version-05)

PREC

Parkereach

Valve Control

17



Parkereach

010-89862398
13520118840

fastat@f§§$ggmotion.com
www . fastar B LOM

18



